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' ID#

stion # 1: (3 Marks)

Consider the half-wave rectifier circuit shownbelow, let Vs be a sinusoid with 100V peak amplitude, and R= 500Q.
‘Find the required turns ratio NQ/N¥ of the transformer to have an average output voltage of 10V. (use constant-

£ voltage-drop model with Vp=0.7V).

§ a) Sketch the waveformof Vo. ©.F & i

b) Find the peak current in the diode. Qs §

c¢) Find the PIV of the diode. o .j’,g’
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Questj
a) _Assuming constant voltage drop model with Vpo=0.7V for the diodes shown below, use thevenin's theorem to

simplify the circuit and thus find the values of labeled voltage and current.(4 Marks)
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- b): Design a limiter circuit using only one diode and one resistor to reahze the transfer charactenstlcs shown below,
(assuming piecewise linear model Vpo=0.7V & r4=20 Q). (3 Marks)
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Questjon # 3: (5)
F or the circuit shown below, the enhancement NMOS transistor parameters are: V,=1.5V, and K,’(W/L)=2mA/V>.
Demgn Rs so that Vg=1V;

Calculate drain current Ip, and voltage Vyp,.
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